
  PSR ST1100 HIGHWAY BLADES
Parts List:
Clamps: qty 1 each Right and Left clamp.  2 small under clamps;  qty 8: M6 bolts

Blades:
qty 1 of each: Left and Right blade and qty 2 of each: M8 bolt, washer and nylock nut

Kicktab:
qty 2 of each: M6 bolt, spacer. 

Right side installation: (use blue thread locking compound on all threads)
1. Engine must be cool and safe to touch before installation

2. Remove crash bar covers on both sides of the bike
3. Install Right Top (clamp with a R on it) and under clamp barely snug.
4. Use lube or grease on the contacting surface between the blade and the top 

clamp, install right blade (PSR logo facing upward) with the M8 bolt, and be sure 
the blade clears the crash bar when retracting the blade. Tighten the nylock nut 
to the desired tolerance.

5. Tighten the bolts on the clamps to fixate the desired blade angle

Left side: repeat steps above with the remaining components.

** Check Blade tightness before every ride.


